Unit12  This tomato pasta looks good.
1. ~Z95T¥ (It looks lke~)

This expression “~% T3 " has two uses. The first is used to give an impression on something. (Example1)

The second is used when you expect the state of something to change. (Exmaple2).

; 1% ‘5‘ CAAS + 29T
FA + Z9TY
VEE + 29T

DAA L~ RLZITT
BOLOHRCT, - BulzinHE ey,
JATEFNTT, > X REIRILITT

@ +A TR ~ TAZTT
FALRECT, - RAZLBRECT,
HEANELOTT, — X EUVZIREECT

o 3 H

eV MARYESF, ~ WO E)IZITT,
FonEbiE, - AWNELLITT,

Example1) %@%(i?ﬁ%t%%’\)f“’s“o (That book looks interesting.)
Example2) E%)ﬁ§]i%=\0)%;)<\‘j_o (It looks like it's about to rain.)

~Z)%N
This is an attributive form of % (so0:).

=
D AA  BZHIWwT VA adigital camera which looks expensive (an expensive looking digital camera)

Ly
@ +A #EHZH)WLARZ Y arestaurant which looks quiet (a quiet looking resutaurant)

Example3) B\ Zohlr —F#EoWEL =, (I received some delicious-looking cakes.)

2. NIZ¥5%

This expression states the result from selection among plural candidates. It means fo decide.
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Example1) (%\L(i) 27 —XZLEF, (I've decided to have the steak.)
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Example2) ( FFLRFIR) OOKRFIZLET, (I've decided to apply for such and such university.)

3. VT ViKW
“VX> 9\ means that it is easy to do/use. “VIZ{\\" means the opposite; it means that it is difficult to

do/use.
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Examplel) 2~ 3&E X ‘P’s“\ Y, (This pen is easy to write with.)
& ZD~XU| i%? 2\, (This pen is difficult to write with.)
Example2) %»‘? Ciié L’(’B‘“\ VCF . (Tokyo is easy to live in.)

¥ g9

& RAILE L LIS\ Td ., (Tokyo is difficult to live in.)
Example3) %%@LE% %ti%ﬁ“)’?’s“\ VT, (University classes are easy fo understand.)
AR AN Uw &)

& K”%A % ¥ 13NN TT . (University classes are difficult to understand.)
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